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X and Y Intercepts:

X-intercept= the point where a graph crosses the x-axis;
the point wherey = 0

y-intercept= the point where a graph crosses the y-axis:;
the point where x =0
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How to Find The X & Y Intercept:

Determine the x-intercept for 2x +y = 8.
Solution:
Lety=0-> 2x+(0)=8
Solve for x = 2x= 8
x=4
x-interceptis > 4or(4,0)
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Determine the y-intercept for 2x +y = 8.

Solution:
letx=0-> 2(0)+y=8
Solve fory = y=8

y-interceptis > 8or (0, 8)
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Example: 4x +y =8
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PRACTICE:

Find the x and y intercept for the following equations & write
them in y=mx + b form and find the intercepts (x and Y):

1. 3x+y=9 2. Bx +y = 20
3x+0=-9 5(031’((4:2()
9
%t '3 - 20 ,
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Copy & Complete

1. Rearrange the equations into the form y=mx + b:

a. 2x+3y=6 b.4x + 3y =12
c. 3x+y=9 dx+4y=8
2. Find the x and y-intercepts
a. 4x + 5y =20 b. 3x -4y =12
c. 2x+y=4 d. Bx+3y=15
3. Create a table of values (at least 3 points) and graph: X 54
a. 2x+y=7 b. 3x+y=4 -
c. 4x+y+4=0 d 2x-y=b5 2

S
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Copy & Complete

1. Rearrange the equations into the form y=mx + b:

a 2x+3y=6 y=-2/3x+2 b.4x+3y=12y=-4/3x+4
c. 3x+y=9 y=-3x+9 dx+4y=8y=-1/4x+2

2. Find the x and y-intercepts
a. 4x + 5y =20 (5,0)(04) b. 3x - 4y =12 (4,0) (0,-3)
c. 2x+y=4(2,0)(0,4) d. 5x + 3y =15 (3,0) (0,5)

3. Create a table of values (at least 3 points) and graph:
a. 2x+y=7 b. 3x+y=4
c. 4x+y+4=0 d 2x-y=5
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    Math 10


1.  State what type (negative, positive, undefined, zero) of slope each of the lines labeled a – f are representing.  You will have to look at the diagram found on the overhead.    


2.  State what the slope is for each situation found below:

a)  y = -1/2x +3
b) y = 3x – 4

c) (5,7) (2,4)

d) (4, -3) (-5, -3)


e) (-2, 3) (5, 1)
f) y = m – 2

f) (2, 4) (2, -5)
g) y = 2



h)



i) 



    j)
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3.  Find the x and y intercepts.  Write them in co-ordinate form:


a) -8y = 9x + 27

b) 3x -3y + 21 = 0


c) 2x -12 = -3y
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Section 3.4 – “Write the Equation of a Line (1)”

1.  Write the equation of the line in standard form for each of the following:


a) slope = -3
y – intercept = 2
   

b) m = 1/3
b = -4.2


c) (2, 3)
(-1, 2)


d) (-4, -5)
(0, 6)

e) (8, 1)
(-2, 5)


f) 



            
g)
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2.  Graph the following: (Remember to put the equation in standard form first)

a) y = x + 2

b) 3 + y = 3x

c) 4y – 7 = x

d) 7 – ½ x + y = 0
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1. The NuPhone company is trying to get into the race for long distance business.  They are offering a long distance plan which starts at $5 monthly fee and is $0.02 for every minute of long distance used.


a) Write an equation of the line for the graph.


b)  Draw a graph of this relationship


c) What is the slope of the graph?  What does it represent?


d) What is the y-intercept?  What does it represent?


e) If you paid $8.00 for long distance, for how long did you talk?


2.  Jimmy bought a satellite dish last year and enjoyed all of the new programming.  He paid $30 per month for programming fees and an initial cost of $250.


a) Write an equation of the line for the graph?

b) Draw a graph of this relationship


c) What is the slope of the graph?  What does it represent?


d) What is the y-intercept?  What does it represent?


e) How much did he pay for the year?


3.  Rearrange each of the following into standard form and state the slope, y-intercept, and x-intercept:


a) 4x + 3y – 10 = 0


b) 2x – 5y + 15 = 0



c) 6y – 12x = 18



d) 7y – 2x + 14 = 7


4.  Write the equation of the line in standard form for each of the following:


a) slope = -3
y – intercept = 2
   
b) m = 1/3
b = -4.2


c) (2, 3) and (-1, 2)

d) (-4, -5) and (0, 6)

e) (8, 1) and (-2, 5)


f) 



            
g)
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5.  Graph the following: (Remember to put the equation in standard form first)


a) y = x + 2
b) 3 + y = 3x

c) 4y – 7 = x
d) 7 – ½ x + y = 0

SMART Notebook


Section 3.4 – “Write the Equation of a Line (2)”

Mrs. Côté










  Math 10


1. Write the equation of the line in standard form for each of the following:


a) y-intercept = 10  ;  point (-2, 6)

b) x-intercept = 4  ;  point (-2,2)

c) m = 5  ;  y-intercept = -4


d) m = -2/3  ;  y-intercept = 2


e) y-intercept = -2  ;  point (-7, 0)

f) x-intercept = 10  ;  point (3, -4)


g) x-intercept = 2  ;  y-intercept = 3

h) b = -4  ;  x-intercept = 3

SMART Notebook
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